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Dimensions XIEEBIIEZTIOES TIHET I,
7114 A:SUS304
FD:gUSSO41.5t Model A B C D E F G H J E#Mg Eeeng
WRIHt GFND75GBSC | 72|227| 56| 73| 42| 24| 29|202|186( ¥15400| ¥2,200

HRUIFLTH—LI GFND100GBSC | 97|227| 44| 73| 57| 24| 29|202|186| ¥15,500 | ¥2,200
GFND125GBSC |122|289| 56| 83| 72| 29| 36|256|236| ¥21,600 | ¥2,900

GFND150GBSC |147|289| 44| 83| 87| 29| 36|256|236| ¥21,900 | ¥2,900
NI ER GFND175GBSC |172|372| 58| 98| 97| 29| 40|316|293| ¥31,700 | ¥4,700
5EE7I_X GFND200GBSC |197|372| 43| 98|107| 29| 40(316|293| ¥32,400 | ¥4,700
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